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Run 5972 mpswise, accO: All
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Eniries: 18557

Mean: B.8344 /- 0,05

Sid Dey: 73535 +- 0.0404
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Run 5972 mpswise, acc0: Beam ON, Laser ON
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Enitries: 3521

Mean: 1631563 «- 00113

Sbd Dev: DUET22 4~ D.0ODED
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Mean: 153252 /- 000121

Sid Dwey: 0.F1BE 4 D.00&E
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Run 5972 mpswise, acc(: Beam OFF

Eniries: 8016

Mean: 0116 4~ 00012

Sid Dev: 0.1040 - 0.0008
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Run 5972 mpswise, acc0: Beam ON, Laser OFF
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Mean: 27973 +- 0L 23
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Mean: 28103 +- 30

Sid Drey: 0LASE0 & 00052




Run 5972 mpswise, Acc0 vs Time: All Run 5972 mpswise, Acc0 vs Time: Beam OFF
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Run 5872 mpswise, AccO vs Time: Beam ON, Laser ON Run 5872 mpswise, Accl vs Time: Beam ON, Laser OFF
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